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3y fH= 1,274,781 1,456,659 1,609, 155 1,828,626 1,922,803
AT RE=2 2,542 2,616 2,522 2,498 2,476
dAd 4= ol
SazA= Us 0.20 0.18 0.16 0.14 0.13
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A A 4 g & o=z o 8 | dl e | 0l & |SHS| 3 o gt
g2 | NP2 | T X2= A= | A= (XN F 2| AR2 | 72
2,476 18 2 1 952 19 39 72 180 1,183
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AdLs3| 18 18
S&XNZFF| 2 1 1
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952 703 23 43 9 111
duetxa=2 (+11) 25 +2) | (+1) | (+3) 12 (+1) 17 9 +4)
Aetxi2=| 19 1 3 1 5 2 1 1 2
00SX 3= 39 3 20 15
SANISKT=2| 72 61 4 2 2
37| X7=| 180 177 1 1 1
1,183 272 18 98
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dHX 2= (~2) -2) 129 1) 191 76 (+1) 94 193 80 32
2,476 543 | 859 257 122 146
& A (+9) 18 “2) | (+2) 42 (+3) 93 (+2) 94 212 90 (+4)
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alerx 2= 16 1 3 1 4 2 1 1 1 2
0sSX3T= 1 1
SA0ISX2=2 50 44 3 1 1 1
@$@2BIXR= 4 2 1 1
e X F2= 37 33 1 1 1 1
273 41 11
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